GROUP C

14,12

Exploded View : EV BLOCK HEATER MODEL 0065590

Drawing No. : 0K4146

(3]
Y
o
-
(£}
(=]
©
o
<
N
~
(=3
o
-~
o
<
=~
(S b
N =2
=
(=2
o
D "
s 2
Q ©
xo



EXPLODED VIEW: EV BLOCK HEATER MODEL 0065590

DRAWING #: 0K4146 GROUP C
APPLICABLE TO:

ITEM PART# QTY. DESCRIPTION

1 084918Q 1 HEATER BLOCK 1500W 120V 60/80F

084918R 1 HEATER BLOCK 1500W 240V 60/80F

2 084427 1 BRACKET HEATER W/WELDNUTS

3 042568 4 SCREW HHC M6-1.0 X 20 C8.8

4 022473 6 WASHER FLAT 1/4-M6 ZINC

5 022097 2 WASHER LOCK M6-1/4

6 052857 2 NUT TOP LOCK FL M6-1.0

8 044118 2 BARBED STR 1/2NPT X 5/8

9 050967 1 HOSE COOL 5/8 ID 20R3 (25.5” LG)

10 10000019273 4 CLAMP HOSE .909 OD DOUBLE WIRE

11 077043E 1 CONDUIT FLEX 1.0"ID (25.5”)

12 077043E 1 CONDUIT FLEX 1.0"D (34’LG)

13 094992 1 BSHG RDCR HEX 1 TO .5 BRASS

14 050967 1 HOSE COOL 5/8 ID 20R3 (34’LG)
REVISION: CN-0010674-C Page 2 of 2

DATE: 11/20/17



